L.O. To divide by 10.

42.21

Apples can be sold in packs of 10.
How many packs can be made? ____
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Apples can be sold in packs of 10.
How many packs can be made? ____
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When 60 apples are sold in packs of 10,
____packs of apples can be made.

Show this in a bar model.

When 50 apples are sold in packs of 10,
____packs of apples can be made.

Show this in a bar model.

I have 70p in my pocket in 10p coins.

Draw a picture to prove your answer.

/.- How many coins do T have?

E

70+10=

6 tens+1ten=

=10

There are tens in 40




Mrs Owen has 80 sweets.

She shares them between 10 tables.

Which calculations describe the word problem?
80 + 10

80-10-10-10-10-10-10-10-10

80 - 10

Explain how you know.




